Day 1 - Sum or Difference of Functions

EX 1 - Given f(x) =(x~1)* =1 and g(x) =%(x +1)(x —1)(x — 2), graph the function A(x) = g(x) — f(x)
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EX 2 - Given f(x) =2(x —3)* +1 and g(x) = 5x — 7 , write an equation for the function

h(x) = f(x)+g(x)
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EX 3 - Student Council is selling T-shirts to raise money for new volleyball equipment. There is a fixed
cost of $200 for producing the T-shirts, plus a variable cost of $5 per shirt made. Council has decided to
sell the T-shirts for $8 each Rr H=et

a) Write the cost C(n) and revenue R(n) equations for n number of tshirts.
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b) Graph each function. Identify the pojint of intersection and explain its meaning. Ccn)=RC ﬂ—)
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c) Profit, P(n), is the difference between revenue and cost.” Write a profit equation and graph this
function on the axes above. Pca)= RCn)~ Ccn)
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d) State the domain and range for the R(n), C(n) and P(n) functions. n— 6¢, &7
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Homework: Page 424 #4-7,10 & next page in package.
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